RETEERE RETEIERHE
Screw-on Hinge Screw-on Hinge

B

Index

4% Hinges

e
N

%/

X

M5 STTSLAZETERE Countersunk Screw M5 M6 STTSLIRETEE Countersunk Screw M6
]

11.5
> N MiTTSLAZET (—
180 D736 P Countersunk Screw M6 180°

— A 1

°

A
!

M5iSkEZE]

Countersunk Screw M5

h

—
1

Al

4-M5
30

40
25

|
50
50
/ ©/|
4-M6

' v l

D>
& o - 25
W N
@'\
A

MIRAI ST MRS TR

SUS material upon request SUS material upon request

B

Index

@35 Hinges

A
!

M5 SEERIZHE With Threaded Studs M5 M6 $ZEER4ZHE With Threaded Studs M6 —_-—

Y
[

| N
Y | @
206
| (r‘h
I
[
r
‘
g0

I
| \ /] [
‘ | } | A
& -G 1 i
A ‘ | I \ T - - T - _ _ _
ol w _— 1 1 1 1 @_ w0 —
< | N = : : \ _
‘ 3 3 —FFEFF 1 s s (0 g
1 1B i [ <
| i i i N ‘r J + - ‘ - + - !
I J ; T _ _ - |
-5 | | !
o | —— |
30
- 40 _ — -
- - 12 N——
12

AT , EENE A EREIARTE | REGCECEE R E SR HEE , [EEHNE N ENEAIRTE | R R AR BN SR
Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome

FEALLTE Finish M5 LB TERE Countersunk Screw M5| M5 $ZEERIZFE With Threaded Studs M5 ZME4LTE Finish M6 LB TERE Countersunk Screw M6| M6 $ZHRZFE With Threaded Studs M6

IE3¥822 Black Powder Coated 2101-400-10 2101-401-20 IE¥8 % Black Powder Coated 2101-500-10 2101-501-20

2% Bright Chrome 2101-400-30 55 Bright Chrome 2101-500-30

g5 316 SUS 316 2101-400-316 T55M 316 SUS 316 2101-500-316

D4R Textured Chrome Plated 2101-401-79 D4R Textured Chrome Plated 2101-501-79




RETEIERHE
Screw-on Hinge

RETEERE
Screw-on Hinge

B

Index

#345% Hinges

M6 TSLZ5TEE Countersunk Screw M6

=

C A

|
J

50

280
©
N
90°

43.0

@6.3X90°

T
il
l
63.0
(> @

180 3
—M0 I B VN
S !
[T )

B

Index

@35 Hinges

e sy
| 1l I NN
2“ K/ AN 7 @ /] \) A MERISBET S m—]
MRS EEN
SUS material upon request
—~ 76 -— 15

A
Y

[
)
!

50
30
|
|
|
|

28.0

63.0

\
43.0
©

A
s !
=
k)
59
|

12

L:
[
1

BHEE , EEHNEREREMTIRTE | RECIEAMIEE RIS

Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome.

HEE , NS A INEHAIRE | REIE A B AR

Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome.

FE4E Finish

M6 SIS T[EE Countersunk Screw M6

M6 $ZERRIZHE With Threaded Studs M6

¥ 2 Black Powder Coated

2101-576-10

2101-5761-20

Z=$& Bright Chrome

2101-576-30

TREE5N 316 SUS 316

2101-576-316

E5/05E4E Textured Chrome Plated

2101-5761-79

FREALIE Finish

M6 STk T[EZE Countersunk Screw M6

M6 £ZHRIZ4E With Threaded Studs M6

IE5¥8 2 Black Powder Coated

2101-563-10

2101-5631-20

=% Bright Chrome

2101-563-30

TEE5N 316 SUS 316

2101-563-316

IE5/HE4E Textured Chrome Plated

2101-5631-79




yeeka

FEBEIER S

Screw-on Hinge

FEEEA - 2101

B=
Index

5345% Hinges

P m3DIEBIE |, 5L E info@yeekaco.com

o

N

i

RLIES:=

M8 kB4 TEE Countersunk Screw M8

M8ILSLIRET

©

O

18

60
|
|
I
|
|
|
1
|
|

31, 1k

y— 1

/—m

18

©)

284 ] |
O N
I

36

60

MR EAER

SUS material upon request

M8 $ZERZ4E With Threaded Studs M8

@
L
1
L
F

1T

- "!

— |2

N—
15 |14

MRAIEAEN

SUS material upon request

HET , EEHNE BN | REEA B RS

Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome

EETEIERSE Screw-on Hinge 60X60

ZRELME Finish M8 TTSLZETEE Countersunk Screw M8| M8 $ZEHRIZFE With Threaded Studs M8
5 ¥E22 Black Powder Coated 2101-600-10 2101-601-20

=4$& Bright Chrome 2101-600-30

TEEHM 316 SUS316 2101-600-316

D4R Textured Chrome Plated 2101-601-79

B EIER S

Screw-on Hinge

FemERS ;2101

90

45

60

yr—
—

14

15
NS

N_[—P/
8

BETEERSE Screw-on Hinge 60X90

REALIE Surface M8 i/ With Threaded Studs M8
FRMEIER Black Textured Powder Coated 2101-691-20
I55b4E4$& Textured Chrome Plated 2101-691-79
120
45 45
1 ‘ 1
g8 t———1H———
| | |
Q: - | _ {l; _
1 ! 1
4-M8
L@ L =

15
-

e

HES , EEERNSAEREMEE  REE AR RN

Zinc die,m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome

$2ETEIERSE Screw-on Hinge 60X120

FHEALIE Finish

M8 ERIZEE With Threaded Studs M8

FAEIZ Black Textured Powder Coated

2101-61201-20

IE50HE$E Textured Chrome Plated

2101-61201-79

B
Index

&34% Hinges

E To get product 3D models freely, Please contact info@yeekaco.com
S
=3
=Y



RETEERE RETEIERHE
Screw-on Hinge Screw-on Hinge

B

Index

5345% Hinges

I_ﬁl M6 LIRS TEE Countersunk Screw M6 ﬂl
C %
- 76 14.5 *
28 28 g
pu &
> LWL @) + + o+ |
o ol _|l o ! I I N 7’*“ ***** ll ***** ﬂ*’*’c&g 8
(e} (sp] ‘ |
© I @ +
‘ N 4-26.6X90° N
|
32 32 8

15,
8
}4
)
O
}4
1

L
15,
76 HES , EENE N EINEIRT | R I BRI
Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or textured chrome plated
76 M8 $ERRIZHE With Threaded Studs M8
5 FmERLEE Finish AEFFLeft AFF Right
18 18 IE5¥852 Black Powder Coated 2101-961-20L 2101-961-20R
! /4 Textured chrome plated 2101-961-79L 2101-961-79R

B

Index

@35 Hinges

20

15

8

Eg

i
@4

=N

Ju
)

N
Ll

60
36

180 2

HEE , EEHRNE S INERRmNE A IR B RANRESRE | MRS SN T

Zinc die,m.s. zinc plated or SUS pin,black powder coated or bright chrome,SUS material upon request

NN s =y 4
SR Finish PO M6 Sk, 7 M6 ISR, SRR R
4 Countersunk Screw hole M6 | 6 Countersunk Screw hole M6 Nylon black hinge leaves & covers,acetal black hinge pin and pin insert
T3 ¥8 52 Black Powder Coated 2101-6764-10 2101-6766-10
#% Bright Chrome 2101-6764-30 2101-6766-30 2104-0-90 2104-5-90




RETEIERHE
Screw-on Hinge

RETEERE
Screw-on Hinge

B

Index

4% Hinges

N

X

74

§

M6 TSLEZETESE Countersunk Screw M6

Ll
L

211.2
12

28
3

6.3

V7 N\
ATSLF A @@ n
i . ié = —— A e
4M61{§1¢ﬂ%_ - HENENES @ 2.75 -

56
76
76

40

20
re! [ [ 0 o~
— . © g
=5 o~ | m | S 8
I
!
)
! gl
180°
40 40
50 145 12 50
S5 6 30
/’ — N (@ @ @\
| E%=|D
o P HBEa81 - @Ls HFHHA s
8 © — — — | — S— —
I | | I
w - | |5lf6
‘ S R, ) [ ‘
! !
o | MoX4FEE{ gL \%&
M6 TTSKERETEIE

Countersunk Screw M6

HES , EENSRAENEHTIRE | IR e BRI
Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome

HEE  EHNE SN | REME MR RS

Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or chrome bright

B

Index

@35 Hinges

ZRMEALIE Finish M6 STEKI2ETEIE Countersunk Screw M6| M6 $ZE#RIZ4E With Threaded Studs M6
5¥EEE Black Powder Coated 2102-540-10 2102-541-20

=$& Bright Chrome 2102-540-30

IE5D4E4& Textured Chrome Plated 2102-541-79

IE5¥8 2 Black Powder Coated 2102-760-10 2102-761-20
=4R Bright Chrome 2102-760-30
IE5HE4% Textured Chrome Plated 2102-761-79




RETEERE
Screw-on Hinge

RETEIERHE
Screw-on Hinge

B

Index

4% Hinges

N

e
74

X

§

3% SeEa - .
I_j ({| |”ﬂ—{} ‘ ff"mp'“;‘}% T fo, =D |_j Ei ]
|

~ |PAwasher

e . |10 A0 =008, E57e]
— T S ) i A

O
25
25

B

Index

@35 Hinges

©
‘ 6 FARYT
‘ 135 Panel Cutout
| u
ATt e iy S e
‘ _
\ an i W ===
— ] 5 __G
50 81— ﬁi e
52 = ©
ZYERERIE R
Nylon black hinge leaves & covers,acetal black hinge pin and pin insert
FA®. BEER. IERE PATEEH |
Zinc die,black textured powder coated, SUS pin, PA clamping pin -
0.7 2105-08007-90 2105-11507-90 2105-1507-90
1.1 2105-08011-90 2105-11511-90 2105-15011-90 %R Left side 2107-L
1.7 2105-08017-90 2105-11517-90 2105-15017-90 H%EA Right side 2107-R
KBYLarge Size
|—| ]
19.5
E7H E!-i [ 57 < 38
=] e ‘ 38 5 52 N
PR [ — 1 A‘—Q’%'
o Fl I o | o
LO| O [Ye]
] . H SN =
3 2 I ER O 1L W SiE ]
e Lo ] | | = | |
el They - o | &
| 1 - JAREEY
@ Adjustment screw
| /\EUSmall Size
15 365 365
25 25 & 512,
50 == =2 12 es,f@ 125125
15 rell & el & N
L v = 8 ww é§§3| L o | 9
ks — ks - Hel @ Hel | @ B ang B
== — 42838 /| |15 65 ) o |
S ou iy i
[ 35 . Ik RiE) [avavz:EThidl FARYT
. y 4- M5 E%%Tﬁﬂ zit] Round screw hole Hex 4mm screw hole Panel Cutout
HIRIERY 1@ With thread holes 1@
With thread studs BRHE T 2R 0 RBERIE  RENEETAEE | TG
Hinge Leaves: Acetal Hinge Pin: Polycarbonate Adjustment screw & nut: stainless steel
HEE , EEANE SN FIRE | FREIE O] IR A
Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome.
[EFL2 7 FEFLE Ik iE) vav==Eikic)
Round screw hole | Hex 4mm screw hole Round screw hole | Hex 4mm screw hole
ABY (/2 ) Version A ( left) 2106-501-L20 2106-500-L10 ABLarge Size | 2112-01-BR 2112-01-BS 2112-01-WR 2112-01-WS
B & (%) Version B ( Right) 2106-501-R20 2106-500-R10 /\ESmall Size 2112-02-BR 2112-02-BS 2112-02-WR 2112-02-WS




RETEERE
Screw-on Hinge

B EER %

Screw-on Hinge

B=
Index

5345% Hinges

10.5

19

FEEPA+CF k. TEEFINTHH

PiREIRLLEE

Rivet on or screw-on

25

30.7

93.7

6.6
43

Hinge polyamide GF 30% black, m.s. zinc plated pin

2113-01 |
¥,
i
24.0 24.0 - %
— 180
€] ) © ]
|
< 6. - ... ]l <l=
5 NME] -
\8\ cb © ]
—
64.0
NN
M.S. zinc plated or stainless steel
FEFF Left A7 Right

554N 304 SUS 304

2114-01-304L

2114-01-304R

$REEE M.S Zinc Plated

2114-01-01L

2114-01-01R

66.5

LB (F%E) Version L(Left)

HEe , EERSAERE  RE e REE

A1 ®
S A
W
7
|
i ‘ —
& ‘ @)
6
60

RE! (/%) Version R(Right)

zinc die,m. s. zinc plated or SUS pin,black powder coated or bright chrome

RELLIE Finish

2 Left

5% Right

IEE¥BTCYEE Black Smooth Powder Coated

2115-76604-10L

2115-76604-10R

=4$& Bright Chrome

2115-76604-30L

2115-76604-30R

=

E‘.

9.4

40.7

91.5

108
79.2

1 '@S\_I'\H
L
S
™ 24.9 45
L
o]
N \
|
® 1 e—©))-

7,4
()
N

FEEPA+CF iRk, IR

Hinge polyamide GF 30% black, stainless steel pin

2116-01-90

=

BHR
Index

@358 Hinges



IRETEEE/EfchE B BERHE ]
Screw-on Torque Hinge Screw-on Hinge

B

Index

4% Hinges

e
N

%/

X

KB

Large size

=

64.0 64.0

50.8
200 200 20.0 20.0

8.4 34

? N s i (@ O - -

Index

B

@35 Hinges

D P olo , 2|3 Bl
\\31 - % 90° 1F 180° e —t ®6§*® 3|e
~ t T : REVERSE FORWARED %
|
- | - 3 | -
U
S : +
~ | | |
~ A | ©
69 s o _ - 4-M6
J & o.[
Y ! [Ts)
\ | ¥ -
\
45 e
N
12.7
34+0.2 &y
PRy
B EPAIRETE R SR
g ‘ ‘ Screw-on hinge polyamide GF black,pin m.s.zinc plated
ax \ \
o
CL 49 M6 JiLiZ4TEE Countersunk Screw M6 M6 $ZEf7IE4F With Threaded Studs M6
N 2120-640-90 2120-641-90
FIRY U
Panel cutout INEE
Small size
48.0 48.0
15.0 15.0 15.0 15.0
! |
N o " |
AR, FEWE ) ) T
Zinc screw-in torque hinge,SUS pin §
oo oo
< (s 551 == :
< |® ‘ AP < |
PRI Black Textured Powder Coated ZR8 Natural @ 1N
EHIE) Free Operating 2118-100-20 2118-100-11 T L1 [1
1.8 2118-118-20 2118-118-11 4-M5
23 2118-123-20 2118-123-11 o =
34 2118-134-20 2118-134-11 ‘ L ‘
< <
2 T 2 S
IR N.m RFEHAZE N.m FRER xE ! e ! =
Forward Torque N.m Reverse Torque N.m Black Textured Powder Coated Natural ~
23 1.4 2118-123F-20 2118-123F-11
3.4 2.0 2118-134F-20 2118-134F-11 B PANBE T EIRE RS, S 2SN
45 27 2118-145F-20 2118-145F-11 Screw-on hinge polyamide GF black,pin m.s.zinc plated
1.4 23 2118-114R-20 2118-114R-11
2.0 3.4 2118-120R-20 2118-120R-11 M5 TTKIRETERE Countersunk Screw M5 M5 gEfRiBAE With Threaded Studs M5
2.7 4.5 2118-127R-20 2118-127R-11 2120-480-90 2120-481-90




RETEIERSHE
Screw-on Hinge

IRETEERHE
Screw-on Hinge

B

Index

4% Hinges

e
N

%/

X

B

Index

@35 Hinges

2121-ABCEY
ﬂ N 300 400 | ﬂ
0 00 _ & &b ¢ 0
300 | /Y ,%/ S
Q
@) O E: ®
| o 2|9 [I D ol o
O m % 21 T T gr 8
| =00l
o| o ol 2
8l s BREE il
g o |
¢ | 500 55.0
S 1350
(%3< D —
; 17.0
S
N NN
2-M5SLE2ET - o
Countersunk Screw 2-M5 N 4-M8TISKARET
N -M8LER
T o Cour;tersunk Screw 4-M8
X — o o
I OEE o8
AZY Version A BEY Version B FrE® 3DIZETEERGE A N HANIEE
3D-screw-on hinge zinc die,shaft and grub screw stainless steel
XRE4ME Finish % Left A2E Right
- AR Black textured Powder Coated 2122-01-20L 2122-01-20R
120.0 X ~\33‘1’
60.0 50.0 /Ay
(@] 120.0
Y 60.0 50.0
© @ [ @
ol o ol 2 fO @
8 < B B | 3 ‘% olo ||T|| o
8| B B RTE
@ r .
® i
S N
S D . 140
o 17.0 M5k iREZ
& M5RHHAE RS
w0
4-M5 Sk IRET == Pg::\1 = } ™ o
Countersunk Screw 4-M5m_ I Jiiy I :.¢ B
< 7 2
\ PEN ABY H=4.5 Y

6.5
©
21.0
-
HEP
=
H
50

©
. (T —
CE! Version C ! T k=T
[Te) 7 42:
© BEY H=15 \/

HES2 DRI EIE RS R A R, N ERIPATE

2D screw-on hinge zinc die,shaft brass nickel plated;washer m.s.zinc plated and bush polyamide

FE IR TEIRERNE AR PAE

Screw-oc hinge zinc die,pin stainless steel and bushes polyamide

ZRMERLEE Finish AZE! Version A BE! Version B C#&! Version C
FREIZE Black textured Powder Coated 2121-01-20 2121-02-20 2121-03-20

FEARLE Finish

AR Version A

BEY Version B

RIS Black textured Powder Coated

2124-01-20

2124-02-20




BT EER %

Screw-on Hinge

B=
Index

4% Hinges

7>
X

§

=

40.0

300 |

|
1CARE
T/
|\
o oo
slHt+—-t+—H+5|s
< | o | ©
ﬁ\
, (P
I
5

FHWF& ”3

P
M5TTSKIRET
M5ER G

6.0
—

HESBEIEERE , A5 NEHN

Screw-on hinge zinc die,SUS pin

G —isl e
I\ CEE R =S ITEE
DY =EEINeMMEY
Standard Height:6mm higher
FOSBRETEIERSE , AN
Screw-on hinge zinc die,SUS pin
FRER
Black textured Powder Coated ALY AR
& Bright Chrome 2123-01-30 2123-02-30
71 316 SUS 316 2123-01-316
40.0
30.0 /
|
M@ | 3
I
o o|o
sl{t+—-+—HH s
< | o™ | ©
16
L ~
= METTSLAZET
M5HZES
= = H B - I
p——— — | =) l ‘C_> o
SRS I TEE
SEEIN4AMMEY S EEIN10MMEY
Height:4mm higher Height:10mm higher

FRER

Black textured Powder Coated

2123-03-20

2123-04-20

& Bright Chrome

2123-03-30

2123-04-30

B EER %

Screw-on Hinge

70
54 4-35.3

18

iy
[N
[39
36
47

30 3-M5

210

76 \ —]
RN

42

15

:

FEE  NENEMAIRT | RESIEAEEEAREREKEDS ($RIFYE )

Zinc die,SUS pin and with threaded studs,black textured powder coated or NM spray painting (matte silver)

: With Threaded Studs

=

HES , TEREMHNRE | RECEAMIT CREFREIARRAL7005

Zinc die,SUS pin and screw,black smooth powder coated or grey textured powder coated RAL7005

FELE Finish

2E Left Handle

4% Right Handle

IE¥BTCY 62 Black Smooth Powder Coated

2126-765-10L

2126-765-10R

FREIR RAL7005 Powder Coated RAL7005

2126-765-53L

2126-765-53R

REAE Finish M5EHIZE] With Threaded Studs M5
5 ¥E FAE 2 Black Textured Powder Coated 2125-701-20
PKIEZE(GRIESE) NM spray painting (matte silver) 2125-701-52
E
i
125
101.6 254
2-C2
9 -1} i
@) N 6-06.4
N @} PH  Lg127 :
=
4.4
6.35

BHR
Index

@358 Hinges



1L TELEREfEEhE
Screw-on Torque Hinge

B=
Index

4% Hinges

Z0
X

§

=

53.5
38
o
\ s>
/f N ||> 4
. ) Y
g 11 1 11
)
53.5
38
7 N
My e

Al

FESIRERHE  FHNEH

Zinc screw-in torque hinge,SUS pin

& 90° IF 180°
REVERSE FORWARED
&
e
142

90° 1E 180°
REVERSE FORWARED

20

7+0.2

125 14.2

iMFLBY Screw-on Hinge

M6EEHRIZIERY With Threaded Studs M6

SR Black Textured Powder Coted

FREZE Black Textured Powder Coted

1.8 2127-5180-20 2127-5181-20
2.3 2127-5230-20 2127-5231-20
3.4 2127-5340-20 2127-5341-20
el
[Xp] 1 © S g
116.8 21.3
@350
3-910.6 .8
3-@5.5
50+0.2 & 58.3 5
3-210.6 v
T ! 13.5
3-@5.5 ‘ | o 50
j%%ffﬁ S N7 S| o &
AT e e 8
Nl © *= N
o hd
« 52.840.2 7 4
102.8 FFLRS

Hae , LRSS, AEMEH
Zinc die,Black smooth powder coated Bright Chrome,SUS pin

Panel Cutout

8% Zinc die

22 Black Powder Coated 2137-830-10
=4& Bright Chrome 2137-830-30

BT EIERSE

Screw-on Hinge

60

40

12.2

O Gﬁf) 1£\
A prsli $ a2l Bl
% O b
\ J \.,/‘
STER04HIE l :
SUS304 Material
TEEHM304 SUS304 2128-600-304
|
63.5
o b«’<b{5%
Q )
{\/ ﬁ: "y g a
& &
| i o
S| . I o g =262 ’ 3
D = [ ]// S
| 1.3 10.4 10.4 '
1772 Stroke  7Z Stroke g
7
N AR BIN304 R R
M.S.Zinc plated or stainless steel '
2129-762-304 2129-762-01
3
o 5-00° 3 | ||
0 1\“ i 0o
© I I SN\ I |
ol L35 70 L
o
21 21 39
/
) ﬁ >
& N v
G
) 7
N2

£54X Steel casting, zinc plated

£54X Steel casting, zinc plated

2132-500-01

BHR
Index

@35 Hinges



1L TELEREfEEhE
Screw-on Torque Hinge

IRETELEEEEE _
Screw-on Torque Hinge

B

Index

4% Hinges

N

e
74

X

§

I_' M5 STTSLBZETERE Countersunk Screw M5
|

=

L7

&z 90° 1E 180°
REVERSE FORWARED

| %0200 | 16.1 40
% & 3 4-295 4-25.3 13.5
. \ % —

120 180°

B

Index

@35 Hinges

- | |
o © S ©)
- - g ———4
A N ~ I P I - 14
S &) N —
- d>> ‘“—) \S} — —
o - : T @)
>
‘ N \ ,
T T
‘ 50+0.2 ‘ 25 ‘
EREEM30414 TR
SUS304 Material
REEHI304 SUS304 2133-120-304 M5 SEEERIRHEE With Threaded Studs M5
| 0
o -5
60 % 90° IE 180° ‘ ‘
56 REVERSE FORWARED (7 \
36 7 {/ — {7 B
= I —+-rels
(D) = :
- S Ry
<t LQ \\‘— L )
oW T —r K ‘ ‘
18]
A N
N
4-26.4 o
| FOSRRRYE , S
= Zinc screw-in torque hinge,SUS pin
FHFRA%E N.m Symmetric N.m
=2 PAG+30%GF, 26, 75N, e o
= > = PA6+30%GF Black , beari teel M5 SSKAZETEIE M5 EEaRIZFE
1.&/??;%&%@?9‘5’%}]5@@7] 0 +oU7 ack, bearing stee Countersunk Screw M5 With Threaded Studs M5 N
HEBERIF£20% ; - . S
2 EGIRIREEIRE | 2000007 ; B H#E5) Free Operating 2136-4000-20 2136-4100-20 EIRIeREEERE « 2500008
0.9 2136-4009-20 2136-4109-20
Technical requirements: IEFAAE N.m REHE N.m BB PA Black CYCLE LIFE:
1.Within 20% of torque specifcaton ; Forward Torque N.m Reverse Torque N.m B 14 2136-4014-20 2136-4114-20 Within 25 , 000 cycies static torque stay
2.Within 20 , 000 cycies static torque stay ; 23 0.3 2135-6023F-90 18 2136-4018-20 2136-4118-20 Within+20% of torque specifcaton.
0.3 2.3 2135-6003R-90 2.3 2136-4023-20 2136-4123-20




1L TELEREfEEhE
Screw-on Torque Hinge

B=
Index

4% Hinges

Z0
X

§

L

iE
1.
HanidIREEWE : 250000%

CYCLE LIFE:
Within 25 , 000 cycies static torque stay
Within+£20% of torque specifcaton.

M6 JSLiBETEZE Countersunk Screw M6

Y

= 90° 1E 180°
REVERSE FORWARED
15
——

I8

mo 15

| o © -

™| ©
=

< (] °

o

C{)

- <

——J |41

7

4-12
FaeERRNE , AEWEh
Zinc screw-in torque hinge,SUS pin
FIFRIAE N.m Symmetric N.m
M6 kRS TEIE M6 iRt

Countersunk Screw M6

With Threaded Studs M6

EHIZE5) Free Operating 2136-5000-20 2136-5100-20
1.8 2136-5018-20 2136-5118-20
23 2136-5023-20 2136-5123-20
3.4 2136-5034-20 2136-5134-20

ARIIFRIALE N.m Asymmetric N.m

EIRTAE N.m REHE N.m M6 STTSLIZETEE M6 RIS
Forward Torque N.m Reverse Torque N.m Countersunk Screw M6 With Threaded Studs M6
2.3 14 2136-5023F-20 2136-5123F-20
34 2.0 2136-5034F-20 2136-5134F-20
4.5 27 2136-5045F-20 2136-5145F-20
14 2.3 2136-5014R-20 2136-5114R-20
2.0 34 2136-5020R-20 2136-5120R-20
2.7 4.5 2136-5027R-20 2136-5127R-20

IRETELEEEEE _
Screw-on Torque Hinge

M8 STSLiZ£TEE Countersunk Screw M8

9-
8@4

FEEMReRhE , RN

Zinc screw-in torque hinge,SUS pin

SIFRAALE N.m Symmetric N.m

L7

 90° 1F 180°

REVERSE FORWARED

17

4-M8

M8 JTKERET[ElE

Countersunk Screw M8

M8 SEHRIRIE
With Threaded Studs M8

B HZE5) Free Operating 2136-6000-20 2136-6100-20
1.36 2136-6013-20 2136-6113-20
2.26 2136-6022-20 2136-6122-20
3.16 2136-6031-20 2136-6131-20
4.07 2136-6040-20 2136-6140-20

AIFRIASE N.m Asymmetric N.m

[EIRTASE N.m [RIE#HAE N.m M8 Tk TR M8 SR
Forward Torque N.m Reverse Torque N.m Countersunk Screw M8 With Threaded Studs M8
2.3 14 2136-6023F-20 2136-6123F-20
3.2 1.9 2136-6032F-20 2136-6132F-20
4.1 24 2136-6041F-20 2136-6141F-20
5 3 2136-6050F-20 2136-6150F-20
14 2.3 2136-6014R-20 2136-6114R-20
1.9 3.2 2136-6019R-20 2136-6119R-20
24 4.1 2136-6024R-20 2136-6124R-20
3 5 2136-6030R-20 2136-6130R-20

=

SO

iE
1.
it IREEEE : 2500008

CYCLE LIFE:
Within 25 , 000 cycies static torque stay
Within£20% of torque specifcaton.

B

Index

@35 Hinges



) ATHFERtE ATt )
Lift-off Hinge Lift-off Hinge

B

Index

4% Hinges

Y

e
74

X

§

AZBY Version A

[ ﬂ E‘a i 31 31 17.5
A 4'<~ = 10 —————
= o _ 146 o8 &
O @ ‘ A—(DB’\ o)g\
O L& A ‘
g | 21 ZzS | 4
s O m - S e R B SRS e | e
: | T
4’%@7 ] | N_
| ‘ [ ‘ ! ! i L
L. 19 12.8 19 1 w
|
20 ‘ 62.8 )
15
™~
] H = BE! Version B 180°
= ‘ | | 63
| L
M (— XY
U U J S LV
< \ \
wn
g 1 LIl
A 3 ] |
SEF P
R Left AZERY Right s, .
. %\ |
HEE , RERE | |
Zinc die, black powder coated T !—
w| ©
- ™ ~
o — ~
AR (1% ) Version A(Left) B (%) Version B(Right) AR (1% ) Version A(Left) B (%% ) Version B(Right) ‘ l ‘ =
2201-141 2201-142 2201-111 2201-112 .19 _| 128 | 19 6.4
63

| 175 175 | HES  REHRERIAE RS

Zinc die,black powder coated or bright chrome

! W ) Version A A &Y 2201-500-10 2201-500-30

Lyl
og

Index

B

@358 Hinges

51
63
63
51

|
% % Version B B 2201-501-10 2201-501-30
|

|
Q). —]
4% o ot N
O <
N %
W O
L , %5 10
19 38.3 255
|
o

, - |
angn SRlan 9 Gle o|d[oo
ﬁg eﬁ | T | - - | I lg'm 4-(10-32UNF) M5 185
‘15%15 H U 15H15

1540
)

17.5
17.5

AR Lot FR3ER) Right N . N
=10 BES  EETHRERAREESE
- " . . Zinc die, black powder coated or bright chrome.
HEE , REOHEREENRESE AIEH 10-32
Zinc die,black powder coated or bright chrome 10-32 thread is on request
IEEESE Front-mount Hing 18FLThru hole 2201-572-20 2201-572-30
i 7 (A _510- _510- M5X0.8 2201-570-220 2201-570-230

Version A (Left) AR (/%) 2201-510-10 2201-510-30 BasEtElRE Concealed-mount A

Version B (Right) B & (5% ) 2201-520-10 2201-520-30 Hinge 10-32 2201-570-120 2201-570-130




I E7rS 5% Ik 3%
YEEka Lift-off Hinge Lift-off Hinge )'EEka

FEREZ : 2204, 2206 FEERESY : 2207
r el /NEY Small size r
11 FE ‘ S : ] A
0 m 55 v m % &
27 27 ! 10.0 M6 M6
0] P | -H (<>} s (0]
£ ez N w2 - A S £
1 1 N N
2 1] s | EIESE 2 : =
® _ _ &
6| 15 _| 15 |6 @
| | s @ 75
& 2 >12 | 135
3 b =
[Z5E] =%
s Two Joints Three Joints -
— o8& L
! 7 —
20 20 13 TR
47 47 Stainless steel or m.s. zinc plated
9 2Rzt Version KEL AEREN Stainless steel HEEEEN Steel
T Two Joints L=25.6 2207-256-304 2207-256-01
RN, AR — -
M.S. zinc plated, SUS cover =7 Three Joints L=39.2 2207-392-304 2207-392-01

KB Large size

L=55 2204-55
L=95 2204-95
14.0 M8
ol | M8
= e 3 B
=) W 12 265 S
(1 |
: (_A |

2-M5 |
33.0
49.0

30
30

m3DIEBIE |, i5EXE info@yeekaco.com
90
30 1010
N 11.5
C Lt
C s
ﬂ"
18-23.5

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S
S
£

| [ v
10.0
>16 18.0
(355 =%
Two Joints Three Joints
10 2
30.5
TN E RN
Stainless steel or m.s. zinc plated
o FAS , EEENEN BN R E BN
= Zinc die, black powder coated or bright chrome,m.s. zinc plated or SUS pin. Xz Version KEL 555 Stainless steel TEEF Steel
|IE=|:E FRMEEE Black Textured Powder Coated =% Bright Chrome T Two Joints L=32.5 2207-325-304 2207-325-01
=3
2206-20 2206-30 =75 Three Joints L=49 2207-490-304 2207-490-01




_ ATHRECHE ATHEEHE
Lift-off Hinge Lift-off Hinge

B

Index

4% Hinges

e
N

%/

X

/\BY Small size

M5X15
BURTIE

Depends on panel Ts

Ll

13.0, 16.0_ 1HRs R 2
Serrated Washer |

T

4l

B

Index

| 7
(<=}
| 2\ - 1 8
N < 12 ,} T 8 o
< 2 12.0 - BhLEEERER
JIL b PA washer
| o ¢] 30
) i—— §[H g
' 28.2 =
] = R5.7
75| | 100 402 _& ‘
& 7 \
13.5 g o |- % <
(7
LI E
2,,
KB Large size
HA® , EEENEA BN REA LR MBERE
18.0 140 Zinc die, black powder coated or bright chrome,m.s. zinc plated or SUS pin.

@358 Hinges

2208-20 2208-30

— 2 =+ M5X15
< 9 BURFIIE
N . — Depends on panel Ts
Blwi=3:1 2y 9
< — o~
16.0 Serrated |
washer ©
) — ]
J ]
o ~
? e S L§ == !
3 A [ T
50 BT A
: Attention: 30
N—— 51.0 < Screw M5X8 should
10.0 | 14.0 not contact the pin
18.0 w
= R5.7
8 - |
2 —+ &)y)~<|
BN E BN
Stainless stee or m.s. zinc plated
- L=45 30 | 2207-4530-304 2207-4530-01
/NEISmall size | =75 Three Joints S EPA GF30% SRR RS R A5 4
= - - | | Ea ) " 751
L=53 38 2207-5338-304 2207-5338-01 Black PA GF30% body, untreated steel fully molded-in,
L=50 29 | 2207-5029-304 2207-5029-01 stainless steel pin
K#Large Size | =75 Three Joints
L=61 40 | 2207-6140-304 2207-6140-01 2208-PA




_ ATHREHE
Lift-off Hinge

AR 2210, 2211

B=
Index

5345% Hinges

[eo]
=
N
o o
3 - : O
< s}
(=) —
& o
g @
4 — N
52
20.0
19.0
t o
o ©
3 WH i
TEINEEEN
Stainless steel or m.s. zinc plated
Az Version K Length TR4E4R Stainless Steel ) Steel
=735 Three Joints L=57.0 2210-570-304 2210-570-01

FERR3DIEBIE |, 5% E info@yeekaco.com

C@ )
9601-M506
|
\ o
Lﬂ 90| lZm oo

>10

17.5

17.5

64.0

FESEFNENARER , R ERE.

zinc die,m.s. zinc plated or sus pin,black powder coated or bright chrome

REAE Finish JTSKH24ET Countersunk Screw

IE¥8E Black Powder Coated 2211-500-10
Z=4$& Bright Chrome 2211-500-30
454K 316 SUS 316 2211-500-316

ATHRRHE
Lift-off Hinge

FEERES - 2213, 2214, 2215

yeeka

82

29 6,6 29
4-M6V 7 10 : \%

| _ 0D _ | o~
& ~

RLIEES:=

»
e
e
J 12
SRR
SUS material
L=29 2213-29-304
80 18
10.5
29 11 29 10
4-M 6
Jan _(‘\ f) > = : ©
N\ PARN J -
2-C4.5 >\
2RENHR
SUS material
KE Length
L=80 2214-800-316
80
e |
9.8 20.5 19.5 20.5 SR o
T o
Qoo Oeedz(s|
& ~
%
— i
.y b
AR SRR e BN R
Zinc die, bright chrome,nickel plated pin, or full stainless steel
EE4E=$&Bright Chrome %5 316 SUS316
2215-800-30 2215-800-316

B
Index

&#345% Hinges

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S
3



YIRS
External Hinge

YPSERHE _
External Hinge

B

Index

5345% Hinges

i (5 =] [Bg

B

Index

@35 Hinges

O =/e) I
13 2
o — o & 62
& A u g 41
mp —
M| B2 = -
. Aijals T
2 \ ) ‘ f
1 < lam : Q) —1.
o~ o o o o 3 - - = < RS iy e 3
~ T B ‘CE ™| © m |I_‘}’
180° XN i
VAN - — B
/] I = o]
N 2 SRR
17 =13 26 20 Spring clip plate
16 40
15 50
HRARRIIRE FIR~
Anti-drop design Panel cutout
HA® , EENE BN REA R REERE 25 /
Zinc die,m.s. zinc plated or SUS pin,black textured powder coated or bright chrome ,/T
|
1.5 4.6 15 2305-15-20 2305-15-30 ‘
|
2.0 5.1 15 2305-20-20 2305-20-30 b jL B 41 L /7 5
1.5 4.6 17 2305-1517-20 2305-1517-30 ‘
2.0 5.1 17 2305-2017-20 2305-2017-30 / ‘
15 46 19 2305-1519-20 2305-1519-30 |
2.0 5.1 19 2305-2019-20 2305-2019-30 J
17
1015 FHARYT FARYT
( Panel cutout Panel cutout 7
% 27 1,
1 i =3 ‘ ‘ 5.1
Jan — i
-1 T
\P i ™) s ol >
g H-BH =8 8 =
17 >
\ 2
-
\ Ts=2
— 1
o \N i
Q °
S 13 L& AR 1 @
o Anti-drop design

FHRT

Panel cutout

HEE , EEHNE SR , RE MR RS

Zinc die,m.s. zinc plated or SUS pin,black textured powder coated or bright chrome

Hoe , EEREEERR

Zinc die,m.s. zinc plated pin and clip plate black power coated or black E-coating

Ts=1.50mm 2306-15-20 2306-15-30 2307-01-10 2307-01-50
Ts=2.00mm 2306-20-20 2306-20-30




YIRS
External Hinge

YhSERHE _
External Hinge

B

Index

4% Hinges

N

e
74

X

§

Ll
7
L

B

Index

@35 Hinges

60
[ 20 26
I ‘_&‘,_2_57_&‘ 5 _15
©Q
= .
N
T | T . L
- - | 3.2 =] /4 AN ~ q
N 0| ~—|— = @ N &
| ™| | ‘ ‘ <
< c B © [ [l [ L;\’"i |
Yo} 7
I | A f 18
Y 25 33.5
15.5 49 i
5
23.2 263 Gt \
A c ]
M6k iR 2L
210 — 62 e «
N
A+EEY S
<r
A AZBEIRE
© | =
N =]
180° = uoo_ _
@ Ny n X E 4y B ‘-@
) A o) HAS  EENEAENEY  FEREE b
= ‘ ) ‘9) Zinc die,black powder coated ,m.s. zinc plated or SUS pin. F}LRTJ-
2309-10 | Panel cutout
15.5 TS=2
C sz e
L JeuE gtk
MBIk AREL Clamping pin |_|
—
C+ERY ﬁ

LE!:1"17.5
2

>32
12

40.5
40.5

-

S

< N
élQ s
<215 ]
/ 255
C+FEY ML
N \ " . . FART
FOSRGE , AEREN , REBEME , 2T FEW Panel cutout
Zinc die,stainless steel pin,Black textured powder coated,or full stainless steel material
HEE , EENENEREH | REmBE
- - - - - - , - - y - - - - - Zinc die,black powder coated,m.s. zinc plated or SUS pin.
A, Version(Left) &3 Version(Right) 5% Version(Left) Z-2 Version(Right) FaZ< Version(Left) &3 Version(Right) 552
A+E 2308-111AE-20 2308-112AE-20
C+E 2308-111CE-20 2308-112CE-20 2308-111CE-120 2308-112CE-120 2310-02-10 2310-02-60 2310-02-70
C+F 2308-111CF-20 2308-112CF-20 2308-111CF-120 2308-112CF-120 2308-111CF-316 2308-112CF-316




S IhEEHE )
External Hinge External Hinge

B

Index

5345% Hinges

L
Ll

.

S0
|
W
|
-
I
195 [
7
\}@J
14
254

2
RN

10.6 N :
0 4 %’ | L4-_|__
| =N
|
|
|

- = - -
1 1 © A o] 2] \_—1180° J A . - <Aah 9 o
. ~ -
oINPT I | G- A [ ;
. . | R
7 6 i
; z LN

I
o8 1, o 50 %" 0]
48 20 hi

FIRYT

Panel cutout

N TN " . HEd , BrlEn FEREE
HAS NSNS  REEEEDE Zinl?: die ,black textured powder coated,PA pin.

Zinc die,m.s. zinc plated or SUS pin, bule white zinc plated

B

Index

@35 Hinges

2312-20
2311-00
! 1 | ﬁ
| | | =
| @ ! @ |
255 %
21 .
< 63

|
EN\ @ 485 105

777L77 e &§<$’E

‘ N ‘|L
[==
|

‘

|
15

2%
PR

180°

‘ ‘ |
_'_‘m l ‘
\ > |

<
3
27
[
[}
Sl [\
S
o
23
27.5
22.5
.‘ 11
12
I
I
\ 2
\

10

];
F
(e}

>10

 I—

180°i 7

HES , EEHNECR BN | RE R RS

Zinc die,m.s. zinc plated or SUS pin, black powder coated or bright chrome.

HES , EERENENGE , RE o RE
Zinc die, m.s. zinc plated or SUS pin, black zinc plated 2313-10 2313-30

2311-02




YR _
External Hinge

YhSERHE
External Hinge

B

Index

5345% Hinges

Version A A #Y
]

=

- 59.5
— 175 s | 45 |
\ T T |
4 el e 0
H - 3| i \r 12 &
g k,%,i,@, I 180° (
= \ | _
T — TR S

180° |
:j Eﬂ 29 |
:% Cb\
& 14

W
RN
%V

Version B B BY

13

17.5

155
5 ,_EAJ
| Y,

28.5
18.5

=
®)
47L |

&
N

G
o
IS

—_
w

A\
y

20
43
63

215

|

Version C C Bl 20 ! N i
13 [ —l}— - > ‘ ( )

i

22
13

e |

=

G
A—

HAT , N BN  RE R RARERR
Zinc die,m.s. zinc plated or SUS pin,black powder coated or bright chrome.

HES , EFEREC RN , REAIHEEERIEERE

Zinc die,m.s. zinc plated or SUS pin, black powder coated or bright chrome.

B

Index

@358 Hinges

A B Version A 2315-350-10 2315-350-30 2315-350-40
B #! Version B 2315-285-10 2315-285-30 2315-285-40
C &! Version C 2315-220-10 2315-220-30 2315-220-40

L=45

2316-45-10

2316-45-30

L=63

2316-63-10

2316-63-30




e 355 =5
y EEka External Hinge External Hinge )'EEka

5345% Hinges

FERR3DIEBIE |, 5% E info@yeekaco.com

ERES : 2317 R ES : 2318, 2328
| ; s
5 m — —13 m 5
i 2 L = '“:’/ 30 k2
___E>__+___€§_S 23
/ A
47 8 %
- 60 I N

I

10
26

|
22 < —_Q
= T— — ©
. @801 ;l+ g _@__ — -

]
22
8
a
A
&

>6
N
8 V@
180°
5/ o 3.5 W ~
4M8 '* 1 1
(epry oj [
N

! HES , EEINSAENEH |, REA BB ERRS A

48 Zinc die, m.s. zinc plated or SUS pin, black powder coated or bright chrome.

60 FEREEF&H

—— 15 235 IE5¥82 Black Powder Coated 4% Bright Chrome 15%;%5!@?@&
shall be available on
@SW | — 2318-10 2318-30 Decerber, 2018
84 Ho+-¢[ -+
H \l/ [Te] i | i N
' | 1= [
I \\ I T I
y S
- 38
O " 15 U
B X 355 o 12.5 Toothed saddle washer
) & 5.4
% P 49.8 T
Y ™
I I .
i 17 e
I I 2] It W g MBX10iR2Z
48 | ™ M6X10 Screw G
——— 15 235 ! (\l\ T

@ — 121 ©
18

0°”8a @ _{'B,!__$_ T . - -0

30

69 21.7

20 - |
SAS , MERERE RN, ‘

EREERES Zinc die, m.s. zinc plated or stainless steel pin.

20

185 12B (RFFiaM RS R SREEH R RE A
SUhﬂjf; siwa \Oapt;\“ecgtn BEW IE%E2E Black Powder Coated Z=4$& Bright Chrome Zinc die door leaf, steel frame leaf, SUS pin
W=15 2317-15-10 2317-15-30 2328-01-25 2328-01-10
W=20 2317-20-10 2317-20-30

&34% Hinges

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S
S



GBS

External Hinge

B=
Index

3%

External Hinge

BHR
Index

5345% Hinges

41.0 ]
| 26.0 %@ ﬂo
N 20
ME-F=ES L 8BET 500
LEI M LB 25.0
- % AR Nl T g
: =ea LNl
1 11 T 1 ] I—
=0
I
| BEHAMEET(M6XS) @
I 9601-M608

180° A S B I EHM IS AR
180°hinge zinc die,black powder coated; m. s. zinc plated; brass washer

A& Zinc Die 2326-500-20

&
(+]

@35 Hinges

30.0
@)
66.0

] > |_I
o |
U {“ ' o
7NFHIZFRMEX6 6.0 I \ ﬁ
M6EL ] I |
ol |V =2 =
8|3 I 38
(LA
08/310 |
IlH |
T
ol <@ o -
N < y —
o 75 1. 30 MSEHALEES, V53T Sk iges
2 - 120 / o ﬁoﬁ
= =~ [te}
—zﬁgfo_ N
HrEN A = A =g
I]E (D A = S L=— 2| 2
——\& ﬂ[-ﬁ War ) ‘\‘
12 . AR Y
| >12
138 1984
180°REESRISUS 316454 A EHR st HESRME A B NEMTIPARE
180° hinge SUS 316,pin SUS 303 Hinge zinc die,m. s. zinc plated pin,PA bushing
Ts=1.5 2324-15-316 138 2327-13-20 2327-13-30
Ts=2.0 2324-20-316 198 2327-19-20 2327-19-30




eeka

35

External Hinge

FemERS 2330 .

2332

B=
Index

5345% Hinges

20
13.4
74

10.8

()

—J
<—4

25

GBS

External Hinge

FERES ;- 2338

18.5 gom

A

Index

&34% Hinges

P m3DIEBIE |, 5L E info@yeekaco.com

1 7
o 268 i o =
» ~ 1 ~ \
~ r ~ o -
{ N @ < T
| ) (\! 1T TE
=
i
\H Y n:'l
| |- 35 50
11.2
14.2
FASRHEER SKEE S :
Zinc die hinge, black powder coated, m.s. zinc plated pin é,' % . . %
- ] T -
FRIEIZR Black Textured Powder Coated 2330-500-20 T /\/ /\/ T
| 45+0.1 |
I 1
FFRY
Panel cutout
FEEERRE  FENE
59.5 Zinc screw-in torque hinge,SUS pin
17.5 18 JIFREAZE N.m Symmetric N.m
)
. & ® 10
1 N4 —
o A — Black Textured Powder Coated Y7
N
C - —'— - () B E#ZE Free Operating 2338-6000-20 2338-6000-22
D M~ 44—
‘ w - 1.36 2338-6136-20 2338-6136-22
<
§° L L J T ~ 180° 2.26 2338-6226-20 2338-6226-22
L
"\; ! 3.16 2338-6316-20 2338-6316-22
~ | 4.07 2338-6407-20 2338-6407-22
) |
M0 T AIFFRAFE N.m Asymmetric N.m
‘ - -
[FRIHE N.m KA N.m FREIR R Gray
Forward Torque N.m Reverse Torque N.m [Black Textured Powder Coated
23 14 2338-623F-20 2338-623F-22
3.2 1.9 2338-632F-20 2338-632F-22
i
4.1 24 2338-641F-20 2338-641F-22 .
AR SRR Hanin IR ENER  25000%
Zinc die, bright chrome plated, pin with m.s.zinc plated 5 3 2338-650F-20 2338-650F-22
14 23 2338-614R-20 2338-614R-22 CYCLELFE:
Within 25 , 000 cycies static torque stay
EBYSER4 Bright Chrome 2332-595-30 19 32 2338-619R-20 2338-619R-22 Within +£20% of torque specifcaton.
i 24 4.1 2338-624R-20 2338-624R-22
3 5 2338-630R-20 2338-630R-22

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S
N



PO PoEssstit _
Concealed Hinge Concealed Hinge

B

Index

4% Hinges

e
N

%/

X

16.5
|_I 3 |_I
e El e 205 3-M6 26.5 = E|

25.0

250 ‘
Eét;ét;n a

75.0

14
31.5
32.0

25

75
25
NEGI=(=(}=

— F
I
34

18

1

33.6

g
5.0
205 210 =
= 258
Vi 7~ 3]
Sl @ U ‘ © Ibs 20.5 N 20.5 .
i sle ) ® | &
| 2 C UiEs
- | < /-ENON--- sii
FA S EHNE R, RE R RIS o A U i
Zinc die,Zinc plated or SUS pin,black powder coated or sand sprayed = R N @ i @
U re; !
2401-115-20 2401-115-77 243 )'9
o 7
I
HAS BN RENGE  RER MBI B Version B

17.0

Zinc die,m.s. zinc plated or SUS pin, black powder coated or sand sprayed

Index

B

@35 Hinges

3"M5 AR Version A 2401-111-10 2401-111-77
_ ﬁ B B Version B 2401-112-10 2401-112-77
O. H
[Ye]
N
o w0 o I_I
Sl 5|8 =
o 30 23 15.7 >
& i’:‘; / Ry
! ﬂ J / [ ~ 7
,Hﬁ,i,g,,i‘ | B _
— 5 N
( g~ 07|~
| 7ﬁ::\7 | ~ y4 L o
N . _— - — N
:F 9 $< ]
105 % 265 20 5
- | N
™ ™ I'T6 \_‘
3 " 60 SULEE [
218
3 (
o } 84 .
2 110
S >16.5

O ERRNEE R R R

Zinc die,Zinc plated or SUS pin,black powder coated or sand sprayed

FEE , EEHRNECNEREH  REmER

2401-116-20 2401-116-77 Zinc die. black powder coated ,m.s. zinc plated or SUS pin.

2402-10




yeeka

PO
Concealed Hinge

FEERERS ¢ 2404

B=
Index

345% Hinges

P m3DIEBIE |, 5L E info@yeekaco.com

o
= alio :
RG] =

KB

Large size

17.6
Cgl ! 2-95.1
S | {
© Spring I TS
o
=
= |
D [Te) o
g [Ye) < «©
oL =
|
0 I
k.
= 3 rL 45
3 Right '
A% Rig o5
/NEY
Small size
|
S
fb.
|HR
|
A o]
1 ol ©
N
0 ! \|/
|
. I
= 48
B2 Right '
BN
M.S. zinc plated
MERAMHEREN

SUS material upon request

o3 Left % Right 7o Left A% Right
K& Large size 2404-01-L 2404-01-R 2404-11-L 2404-11-R
/B Small size 2404-02-L 2404-02-R 2404-12-L 2404-12-R

RIS

Concealed Hinge

FEERZR% : 2404 . 2405

NEEER

View from inside

Rt | ARERE
BJLAEM=]

pull pin against the

spring to remove door

A J4REER

Assembled in the right door ~ Assembled in the left door

Rz A7)
- Example of application
‘“@.
o~
I . FL
ﬂ):‘l' I‘ T : T
Bearing D
washer
o 16.8
o
© 12.7+0.1
' 6+0.1
M
N\
S| o
2 3
< S ©
S L
N | =
9 &)
=2} (3
Al JEER
@63+
PN

M.S. zinc plated or stainless steel

$R2[EFER Screw on version

2 Left

7% Right

$REEEE M.S. zinc plated

2404-04-01L

2404-04-01R

EEEN 304 SUS 304

2404-04-304L

2404-04-304R

25

@5

mBH— 19— 9

15
70

>5

M5

HEEEN
M.S. zinc plated

2405-01

A

FREEARH
18 12R (A
Under development,
shall be available on
December, 2018

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S
S
£



S _
Concealed Hinge

FEERES ¢ 2407

PO
Concealed Hinge

FERERS ;2406 . 2407

yeeka

1 6.3 265 1* F e | |
6.5 204 ’\ Ay = |:.. ‘
* - f ~Hii IR m .—I e~
% S v |
m < I_
148 | — ‘ |
: G 8IS -t 1188 3|< -—-—————T 8|8
c
z w©
g‘ﬁ 3 -+ -—1—]8 B o (R G N 4 L |
] \ I - | V7145 l.
' Q1145 W X
122 2 V.25 5 | 25
20 (V(D [ Vv |
38.5
° 26 32.5
= = 05 B « .
- 5NT o , ¥
Vg s FULAJE Vgl
{BUEIER R E R ) N @ B
Screw on version Weld on version o )
TEEHREA TN TEEHNEA TN

M.S. zinc plated or stainless steel

555X 304 SUS 304 SEE25N Steel

M.S. zinc plated or stainless steel

54X 304 SUS 304 HEFE Steel

{R42[ERERY Screw on version 2406-011-304 2406-011-01 ( RY 20) (Dim 20) 2407-021-304 2407-021-01
J2IEEEE Weld on version 2406-012-304 2406-012-01 ( R 24.5) (Dim 24.5) 2407-022-304 2407-022-01
‘.')
) 2 s \J
iy ) Y Oy
8, O N % O/
2 I o o)/ | o O/ v
%o > ) gl
a >\é ?F / N — =
et - Ml
] | L
11 I 4’ I I I
| 48 | | dg 8o | Lt ele
B8 -89 P -1 18288s S E SIS T8 . |
£ | | all ! A< T
S jzj- L |
; 4nEN N ! | T T
o 5 A d
g U 2254 7 O [ D H,.
3 @g | o 8995 Q 1 ¥ @5 & B3 bes
5 3 ' & Bd_204 & 145
2 o) 17 15 w 9 Vv
= v e g ||| € v 385
s ) 3 S ) 825 o 325 e
® “ > “ J 26 ‘9(’ I3
T <y Hlo < @3?2 L@\ ST Iy
o . N~ o H o
A3 o
o 113 o [ 205 : — =~
1K 20.3 21 21
& 325 325
1] RN AN BN
{L M.S. zinc plated or stainless steel M.S. zinc plated or stainless steel
o
% TREREN 304 SUS 304 HEEEER Steel ZEEEN 304 SUS 304 HEEFN Steel

( R~ 20.3) (Dim 20.3)

2407-011-304

2407-011-01

( R~ 21.5) (Dim 21.5)

2407-012-304

2407-012-01

( R 20) (Dim 20)

2407-031-304

2407-031-01

( R<F 24.5) (Dim 24.5)

2407-032-304

2407-032-01

B
Index

&34% Hinges

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S
=3



% e
y eeka Concealed Hinge Concealed Hinge YEEka

FEERESY : 2408 FEREZ : 2408, 2409
o] 2ol TN M6 LARET o] B 2o TN
% — 1 o 51.6 Countersunk screw M6 = t o 5
e ” 45 50.6 45 -5 / 2
) 2z S 8 . | LZ e
) /- - l_ . an ~ »
- O
S = | 2065 ol & L] o3
c A ~ N c
21 e e Al
% r ] =g _A A _—} %
& | L I 2-63 v Es: |- &
0 <t BREEHIN Locknut
W 2 ot 235 {15
8 I~ Q-1 g2 33 clamping ring
Moz B 23 N
~ AN
N i < 12|10 TR
— 2 I \@ A ! | E‘“ﬁ’
L N e I\ B
(D N o I
2.75 120 | ts
1 o~ B\ 1\ XS =
| j 1 I m % H D
i AN o ¥ )
T = N \’5)
R=
EEHNENEEIN , RO, R, 46
BN RN M.S. zinc plated or stainless steel,shaft clamping ring: POM, red
M.S zinc plated or stainless steel
555X 304 SUS 304 HEE25M M. S zinc plated
AR 304 SUS 304 IEEF Steel 2408-03-304 2408-03-01
2408-01-304 2408-01-01
o6
I [} [} I
1k o
R L) il i :
e | 1 3
L G | F L :
‘C—’. [HINNS v ' ! H -]:l; Y 10 23 S
T | IRV ] A ] 1l |7 \| [} [} 12 =~ [
c 20 96, 33 L M\ J AN /' 1T 2.8 3 q>’,
S AN 23 P S . il ®
S 2 > M6 IS 120° : E
§ @ 1011 112 | 177 "\‘J,_/;r'— & 5 11798 |8 % ,I‘ % = =
X N b \J - -—
3 . . tw,sz‘: R TT X1 5 | i) o g
S R 2555, | & L e ISR | 2X1. flﬂvﬁ NIEERS :
g a W2 o 75l 1% T BT —=i G o S
= - -_.-_____;ﬂy U 0)%9- o™ a---2 T s . = =t 2
N"‘ i ~ ;I : : : : N N[ o~ =
H 40 P 61113 1 1 ~ o
ot 28 1o 1o =
Him 65 o 1] s
- 87.8 4 RiEM “
0 Weld-on point ©
o : $
% £
© a
112 BN AN TEEAN A =
{L M.S. zinc plated or stainless steel M.S. zinc plated or stainless steel .g
o
55K 304 SUS 304 TEEHN Steel Z$55M 304 SUS 304 FEEHN Steel =
[}
2408-02-304 2408-02-01 2409-304 2409-01 E



AR

Concealed Hinge

Posssstit _
Concealed Hinge

FEERZRE : 2412 . 2414

FEERZRA - 2410, 2411
5 126
we 100.4 o
2 \% 52
[}  e— | )
2 T c
= < | 1] © ~
:l_: N [7s) ® <)
4 < SRS "@ 1| &
ﬁ (D‘o‘i\ ~ [Te) o~ N s S 1
116
H=17\20\23.4 ~
g
EEENE BN
M.S. zinc plated or stainless steel
S Height 7554 304 SUS 304 FESEN Steel
H=17 2410-17-304 2410-17-01
H=20 2410-20-304 2410-20-01
H=23.4 2410-234-304 2410-234-01
m
25.0
15.0
o 9 10.0
V >4.5
O o T
£ [ [ L
: o ®
© o — -
o : - - - - i H
: &l T—3F 5 lE™
ﬁ (3 T T ~ AEEN ‘u_)
(]
> A
e 165 <
= . 48.0 S —
i 3 -
® ‘ 18.0
Hi
. IR RS T EE
&
i
=)
(32)
08
L

HEE , EENRAHRER , REEDER
Zinc die, Sand blasting nickel plated,m.s. zinc plated or SUS pin.

2411-02-78

TN
| _

60

40

08 @10 @12

RN

M.S. zinc plated or stainless steel

KE L=40 KE L=50

1\
7

80

016

KE L=60

KE L=80

5K 304 SUS 304 2412-40-304 2412-50-304 2412-60-304 2412-80-304
YEEEN Steel 2412-40-01 2412-50-01 2412-60-01 2412-80-01
@13
@5
0 |
- B 0
~ N
=l [ ] g0
o~ 1
0 ‘ £ /
S . / K
as| 9
N
i FFLRS

20.5

REPARE , HEEHE
Black PA housing, zinc die pin shaft

2414-01-90

Panel cutout

B
Index

&34% Hinges

To get product 3D models freely, Please contact info@yeekaco.com



PO
Concealed Hinge

FERBERS - 2416

B=
Index

5345% Hinges

FERR3DIEBIE |, 5% E info@yeekaco.com

r &

@d

e N A
\_l
0
|
I|

(

min

fﬂ

RIS BRI THE R, B AN

M.S Raw with M.S pin or brass pin, or full stainless steel.

yeeka

X5 iz 2AEN
m.s raw m.s pin m.s raw brass pin SUS 304
40 @8 @5 9.5 2416-40A-01 2416-40A-59 2416-40A-304
50 a8 @5 9.5 2416-50A-01 2416-50A-59 2416-50A-304
60 @10 | @6 | 12.0 2416-60A-01 2416-60A-59 2416-60A-304
70 | @911.5| @7 | 135 2416-70A-01 2416-70A-59 2416-70A-304
80 @13 | @8 | 155 2416-80A-01 2416-80A-59 2416-80A-304
100 | @16 | @10 | 20.0 2416-100A-01 2416-100A-59 2416-100A-304
120 | @16 | @11 | 20.0 2416-120A-01 2416-120A-59 2416-120A-304
135 | @18 | @12 | 22.0 2416-135A-01 2416-135A-59 2416-135A-304
150 | @20 | @13 | 25.0 2416-150A-01 2416-150A-59 2416-150A-304
180 | @20 | @14 | 25.0 2416-180A-01 2416-180A-59 2416-180A-304
200 | @23 | @16 | 285 2416-200A-01 2416-200A-59 2416-200A-304

B
Index

To get product 3D models freely, Please contact info@yeekaco.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30

